o Pant 3 — Solve the Aiﬂ;zrznc.e& hAé converting Finst

. Mrs Chapman has a lkg hag of rice. She uaes 2504 How much is Lefi?
2. Ms Silwester has a | Skg hag of pasta She uses 250g. How much is Lefi?
3. Mus Jones has a | Skg hag of flour. She uses 3604 How much is Left?

b Mra Pearce has a 25kq hag of sugar. She uses 7524, How much is Left?

5. Miss Pettitt has a |.25Ju} b.cuﬂ ﬂ{F lentils. She nses 6#3@. How much is lzjft?

Part + — Solve the Frnblzmﬁ blé rzndlm:.; the scales and L.cnw.e.rkinq

T
{&K N%x Mrs Sim and Mrs Smith ,w_eixﬂh

O ff % }‘.l(’/@ their ﬂppiz/s thzx& hawve bmu%ht

in F.O‘I their anack What is the

diﬁj:zanz in their mass?

: M'I/S mepzr and Mrs Poole
l ’ I '. l ’ I i | wzix}h their toddlers. What is the

80003 lQOOOj i’l,(}’b‘Df:J , di&;ﬁzrznzz in their mass?




